Hello Year 3,

Year 3 Remote Learning - Term 2 Week | (2.11.20)

Please see below for the activities that we would like you to complete this week. In English we are learning the features of adventure

stories

In maths we are continuing with place value with a focus on adding and subtracting but please ensure you keep practising timestables
daily using Timestables Rockstars. For our topic learning we are starting to look at our topic called ‘The Bright Sparks Academy’, where
our end product will be to make a light up sign.

Year 3 Team

Reading / Maths English Topic
SPaG
Monday Spelling: We are beginning to add numbers larger than 100. Spellings Science- Scientists
2.11.20 Play spelling | complete: find
frame for at & floor In your books, draw what you
least 10 . 2 ones and 3 ones is equal to _ ones. gold think a scientist looks like.
minutes per grass Then label your picture with the
day " 2 tensand 3 tensis equal to___tens. great skills and qualities you think
you need to be a scientist.
Reading .
Show an [ 2 hundreds and 3 hundreds is equal to ____ hundreds. Wr!tmq a recount
enjoyment e Write a recount to tell your grown
for reading . . . ups what you did during the
by reading a Discuss the image above with your adult. holidays
book of On paper - How many different ways can you Expecta;cion5°
i represent p
ﬁ;rt??;;i 200 + 300 O Use: sentence
for at least openers/adjectives to describe
10 minutes , + sgo emotions/conjunctions to
per day. Find and record all the possible missing numbers. extend your sentences

Answers
0 + 800
100 + 700
200 + 600
300 + 500
400 + 400
500 + 300
600 + 200
700 + 100
800 +0
On paper
If I know 700 - 500 = 200 what else do I know?

Write in the first person
Write in chronological order
Write in the past tense
Apply your SPaG learning
Spell words on display
correctly

00000

Think about...
Where did you go?
Who did you see?
Did you enjoy it?




Tuesday

3.11.20

Odd One Qut
Which is the odd one out?

Explain why.

RN
G- MR
I+ R B

On paper

Possible answers: The odd one out could be 300
+ 500 = 800 because it does not have the
number 200 in the calculation. The odd one out
could also be 200 + 700 = 900 because the
answer is not 800

We are starting to link addition and subtraction

Discuss with your adult.
Make up questions - e.g. There are three children
playing on the slide. One more child joins them so
there will be how may on the slide?

Continue the pattern on paper

Cold Task

We are going to be starting to learn
about Adventure Stories

What do you already know about
Adventure Stories? Have you ever
been on an adventure? What is an
adventure?

Watch the link below
https://www.literacyshed.com/little-
boat.html#

Activity
Write an adventure based on a little
red boat. Remember to include a

beginning, middle and end. Make

Science- Electricity

In your books, let’s find out
what you know already about
electricity?

Copy the above grid into your



https://www.literacyshed.com/little-boat.html
https://www.literacyshed.com/little-boat.html
https://www.literacyshed.com/little-boat.html

22=29-7

22=28-6

| +4 +2 4 4+ 2+ |

2 +4 +1 4 4] +2

True or false the above calculations have the same
answers.

Answer - true

7-3-2 2-3-7

3-2-7 7-2-3

True or false the above calculations have the same
answers.

Answer — false

Jack’'s house

Annie's house

Jack lives 5 km from school.
Annie lives 4 km from school in the
same direction.

What is the distance between Jack and
Annie's houses?

After travelling to and from school, Jack
thinks that he will walk 1 km more than
Annie. Is he correct?
Explain your answer.

What will be the difference in distance
walked after 2 school days?

Answers

Ikm

No, he will walk 2 kilometres further. lkm on the
way to school and | km on the way back

4km

your adventure as exciting as you
can.

books, and fill out the first 2
columns

Wednesday
4.11.20

With your adult
e Thisis a 5 digit number.
e The ones digit is the same as the thousands
digit.
e Thereis one 4 in the number.
e The ones digit is the same as the last digit of

Adventure Stories-key features

What is the purpose of an adventure
story?
To entertain the reader

ART
If you have access to the internet
research the artist Kandinsky, can
you list some bullet point facts about
the artist.




this year.
e The ten thousand digit is two more than the
thousands digit.
Take it in turns a couple of times
With your adult discuss the image below
Odd One Out g

Which is the odd one out?

Explain why.
EE .- ENEEEEE
EE- EEEEEE
EEE - EEEEE
Copy and complete on paper
356 - 5= 356 — 5= 356 — 5=
357 - 5= 356 — 4 = 366 — 5=
358 - 5= 356 —3 = 376 —5=
359 - 5= 356 — 2= 386 — 5=
On paper

Jack has 534 team points and gets 4 more. Tommy
has 534 team points and loses 4 of his.

How many team points does each person have?
Who has the most?

Explain your answer.

On paper

ONORNS
Q00

OO0 O

Rosie has added or subtracted ones to get this
answer.

What could her calculation have been?

Her starting numbers are between and include 340
and 350

Did you use a strategy?

Do you see a pattern?

Adventure stories need the

following:
Excitement by using:
Use good connectives.
Suddenly, without warning, At
that very moment.

o

O 00 O O

o

Use good punctuation.
(Exclamation marks)
Ask the reader a question.

(Draw This is a 5 digit number.

The ones digit is the same as
the thousands digit.

There is one 4 in the number.
The ones digit is the same as
the last digit of this year.
The ten thousand digit is two
more than the thousands
digit.

them in)

Use effective vocabulary, adjectives,
adverbs, expressive verbs, similes

Story opener

o

Setting the scene

(Place and Time)

o

Introduces characters

(give main character a flaw /
characteristic to make them
interesting.)

Adventure/cliffhanger

o
o
o
o
o

What happens?
Thoughts and Feelings?
How do you survive?
Dialogue?

Cliff-hanger

Ending

If you do not have access to the
internet, use the below fact sheet to
make some bullet point facts about
the artist.

After you’ve made your bullet point
facts, watch the below clip to find out
more about the artist’s life

https://www.youtube.com/watch?v=q

XcAkgPKDxc



https://www.youtube.com/watch?v=qXcAkgPKDxc
https://www.youtube.com/watch?v=qXcAkgPKDxc

On paper explain your reasoning
Alex thinks the chart shows 456 - 4
Do you agree?

Hunsdred Tens ‘ Ones
@J0) (@20 ©]0)
OO0 30) OO

O OO

L

What happens?

Has the character changed as a
result of the story?

Have the character comment on
what has happened.

Do you end with a cliff-hanger?

Look at the adventure stories on the
links below- can you find the
features listed above?
https://wwwe.literacyshed.com/the-
adventure-shed.html
https.//www.bedtimeshortstories.com
/the-wooden-horse

Thursday
5.11.20

We are adding | and 2 digit number
7+5=

A Can you put the larger number in
| o your head and count on the

ﬁmm smaller number? Start at 17 and

7 B 0 2 z countond

Discuss the above image with your adult.

On paper

Always, Sometimes, Never

When 7 and 5 are added together in the ones
column, the digit in the ones column of the answer
will always be 2

What other digits would always give a 2 in the ones
column? Prove it.

On paper

Retelling a story

Use the link below to listen to the
story.
https://www.literacyshed.com/the-
adventure-shed.html

Create a story map to retell the
main parts of the story. This can be
done using words and pictures.

Religious Education

This term we are continuing to
understand what it means to be
a Christian.

Copy out the weekly timetable
or print the attachment.

In the first timetable put the
things in that you do in a usual
week. (You can draw or write).

Watch the below clip, about
Nathan
https://www.bbc.co.uk/program

mes/p02mwvijy

After you have watched the clip
put the things that Nathan does
in his week into another
timetable.



https://www.literacyshed.com/the-adventure-shed.html
https://www.literacyshed.com/the-adventure-shed.html
https://www.bedtimeshortstories.com/the-wooden-horse
https://www.bedtimeshortstories.com/the-wooden-horse
https://www.literacyshed.com/the-adventure-shed.html
https://www.literacyshed.com/the-adventure-shed.html
https://www.bbc.co.uk/programmes/p02mwvjy
https://www.bbc.co.uk/programmes/p02mwvjy

Always, Sometimes, Never

Explain your answer.

| am thinking of a two-
digit number, if | add ones

to it, | will only need to

change the ones digit

Answers

Sometimes, because if your ones total 10 or more you
will have to exchange them which will change the
tens digit.

On paper

Whitney has 125 stickers.

She gives less than 10 stickers to Eva.

She has an odd number of stickers left.

How many stickers might Whitney have given away?
What do you notice is the same about your answers?
If Whitney had an even number of stickers left, how
many might she have given away?

Children to write a short
paragraph explaining how
these activities show Nathan’s
faith.

Nathan's weekly timetable shows
that he is a Christian because...
Nathan does these things because...

we are adding 1 and 3 digit numbers
discuss the image below with your adult
We can use Base 10 to solve 245 + 7

Use this method to calculate:

357+8 286+5 41941

Show your adult how to use number lines and
record on paper, use the image below.

SPAG

What is a contraction?
https://www.youtube.com/watch?v=7
UdDjpGmx-0

A contraction is a word or phrase
that is shortened by dropping one or
more letters.

For example:

I am happy. - I'm happy.

The apostrophe takes the place of
the missing letter a.

Examples

must not= mustn’t
cannot= can’t

she is= she’s

Have a go at the activity below.

PE — Mr Atkinson challenge

Mr Atkinson challenges you to
learn how to speed stack, lesson
| below

https://www.youtube.com/watch
?2v=F89vHYoM8XM

If you do not have the
resources, try something active
for 20 minutes.



https://www.youtube.com/watch?v=7UdDjpGmx-0
https://www.youtube.com/watch?v=7UdDjpGmx-0
https://www.youtube.com/watch?v=F89vHYoM8XM
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We can use a number line to calculate 346 + 7

46+4=50 50+3=53

0 VY NN T W S ———

wwuwson 2 50346 +7 =353

Use this method to calculate:

564 + 8 716 +9 327+5

On paper

We can partition our 1-digit number to calculate 379 + 5

379+ 1=380 380 + 4 =384

Lse this method to calculate:

178+ 9 826 + 7 35948

Always, Sometimes, Never

When 7 and 5 are added together in the ones
column, the digit in the ones column of the
answer will always be 2

What other digits would always give a 2 in
the ones column? Prove it.

Answers
Always
e 1+1
e 2+0
e 9+3
- 8+4
e 6+6

will also always give a 2 in the ones column.

Write the ronkrocled wersion
Remembertoodd the apostrophe in the corrach

plocs

WDIA-i or phLa.&z contraction

should hawve

do not

let us

I am

shall not

was nok

you harve

m!n..n.ut

she is

wNe are

Can you think of any other
contractions?




